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B.Ed 1st Year Exam., 2020

GENDER, SCHOOL AND SOCIETY
Time : 1% hours Full Marks : 40

Instructions :
{i The marks are indicated in the right-hand margin.

(i} There are SIX questions in this paper.

(i} Question No. 1 (attempt any five out of eight) is
compulsory.

fiv)] Attempt THREE questions out of the rest five
guestions,

1. Answer the following as directed (any five) :
2x5=10
Frefifaa % Féwger s A (F8 otE)
Jg)/First lady prime minister was
s Afen wuwEAT o
(i} Indira Gandhi
3R mish
(i) Soniya Gandhi
wifrn e
(i) Pratibha Devi Singh Patil
gfenn 3 fire wifes
(iv) Mayawati
HIATE
( Choose the correct option )
( =t feren &1 T Hifim )

20AK/1164 ( Turn Qver )

(2)

f‘.":y"WI'mu in Women Day celebrated?

(c)

(d

(e

20AK/1164

ufden fRay st v st R
(1 15 March
16w
(if 10 March
10 WS
{iij) 8 Muarch
8 nred
fiv) 21 March
21 W
( Choose the correct option )

( af) fmew w1 aga R )

Write any two objectives of women
cmpowerment,

witen unfee % w2 3ty fafag

Define gender equality.
Afver warrn ) afonfia R

hat is gender socialization?

fé warsfieRto &0 87

Define gender bias.

fer wamra @ gfonfia R
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(3) (4)

/(g!/ Write any two reasons of gender 6./ Mlscuss the role of teacher in creating
inequality. " gender equal classroom. 10
&frs srmmra & g < Fro fafee et e e ¥ Pfu # fees /il A i

) R hikm )
() Mahila Samakhya Programme Was Sy,

started in the year
e qarem wdEa a4 # amoew e ” ok k
™|

( Fill in the blank )
( s vam i fd g )

2. Should there be discrimination on the basis
of gender? 10

71 fem-ie ¥ snaR v fse € wnfee?

3, Discuss the gender biasness in Indian
society based on economic disparities. 10
afs sEmEdEl ¥ anEar @ e e # fom
g9 %1 90 FIfg|

4. Write how to correct gender disparity in
Indian context with the help of curriculum. 10

yredg afle 3 Afe SmEEa I TS 6 R

A H di= B o weha &7
5./ What is feminism? Discuss status of women
in Bihar. 10
arffare @ 2?7 frgn & wfeenafl 6 fafa 6t =
Fifore )
20AK/1164 { Turn Qver )
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